10 00 1Sv/h 1Sv/h 2.1
50 pSv/h|| pISv/h 41
40 pSv/Zh|| pISv/h 4.4
30 pSv/h|| pISv/h 2.0
20 pSv/h|| pISv/h 3.0
10 pSv/h|| pISv/h 5.0
00 pSv/h|| pISv/h 4.6
50 pSv/h|| pISv/h 1.7
40 pSv/h|| pSv/h 0.7
30 pSv/h|| pISv/h 0.7
20 pSv/h|| pSv/h 0.8
10 pSv/h|| pISv/h 1.0
00 pSv/h|| pISv/h 1.2
50 pSv/h|| pISv/h 0.9
40 pSv/h|| pISv/h 0.8
30 pSv/h|| pISv/h 0.8
20 pSv/h|| pSv/h 0.7
10 pSv/h|| pISv/h 0.8
00 pSv/h|| pISv/h 1.0
50 pSv/h|| pISv/h 1.2
40 pSv/Zh|| pSv/h 1.4
30 pSv/h|| pISv/h 16
20 pSv/h|| pISv/h 0.9
10 pSv/h|| pISv/h 1.1
00 pSv/h|| pISv/h 1.2
50 pSv/h|| p1Sv/h 14
40 pSv/h|| pISv/h 1.0
30 pSv/h|| pISv/h 0.7
20 pSv/h|| pISv/h 0.8
10 pSv/h|| pISv/h 0.7
00 pSv/h|| pISv/h 0.7
50 pSv/h|| pISv/h 0.9
40 pSv/h|| pSv/h 1.6
30 pSv/h|| pISv/h 13
20 pSv/h|| pISv/h 11
10 pSv/h|| pISv/h 0.6
00 Sv/h|| pISv/h 0.8
50 pSv/h|| pISv/h 1.1
40 pSv/Zh|| pSv/h 0.7
30 pSv/h|| pISv/h 0.7
20 Sv/h|| pISv/h 0.8
10 pSv/h|| pISv/h 0.8
00 pSv/h|| pISv/h 0.5
50 pSv/h|| pISv/h 0.6
40 Sv/h|| pSv/h 1.0
30 pSv/h|| pISv/h 1.0
20 pSv/Zh|| pISv/h 0.8
10 pSv/h|| pISv/h 0.9
00 pSv/Zh|| pISv/h 0.5
50 pSv/h|| pISv/h 0.8




m/s

40 ISv/h l1Sv/h 0.7
30 pSv/h|| pISv/h 05
20 pSv/h|| pISv/h 0.6
10 pSv/h|| pISv/h 0.8
00 pSv/h|| pISv/h 1.0
50 pSv/h|| pISv/h 1.0
40 pSv/h|| pISv/h 0.9
30 pSv/h|| pISv/h 0.8
20 pSv/h|| pISv/h 0.9
10 pSv/h|| pISv/h 1.3
00 pSv/h|| pSv/h 1.0




